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CONTEMPORARY ISSUES UNIT
THE CHANGING WORLD OF WORK

Answer all the questions.

(a) Study Source A below and then answer the question which follows.

Source A
Trade Union membership 1993 — 2003
1993 1998 2003 % Change
8,804,000 7,852,000 7,751,000 —12%

What does Source A tell you about Trade Union membership in the period 1993 to 20037[2]
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(b)  Study Source B below and then answer the question which follows.

Source B

MAKE |

a STARBUCKS SIGNS HISTORIC
TRADE AGREEMENT WITH ETHIOPIA

FAIR

Oxfam celebrates a campaign victory as Ethiopia and Starbucks
agree to work together to forge a new and fairer path for Ethiopian
coffee farmers in the international marketplace.

(176-10)

[A publicity leaflet from Oxfam]

Use Source B and your own knowledge to describe the work of a non-religious aid agency.

[4]

Turn over.
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(c) Describe the changes in job opportunities for women since the 1960s. [6]
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(d) Study Source C below and then answer the questions which follow.

Source C

Since 1960, many older industries in the UK, such as coal-mining, ship-building
and textiles, have declined and new industries have developed in their place. This
change has had a major impact on many communities in the UK.

Using an example or examples you have studied, explain why this industrial change has
taken place and describe the effect on the area or region. [8]

Explain why this industrial change has taken place.

Turn over.
(176-10)
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(e) ‘Thanks to new technology, the work-place can no longer be regarded as local or national.
It has now become a truly global work-place.’

How far do you agree with this statement? [10]
In your answer you could.:

explain what is meant by a ‘global work-place’
describe the effects of new technology on the world of work
decide how far you agree with the statement.
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(176/10) END OF QUESTIONS



